SUMPO SuMPO EPD SUMPOBBIEIANINTOIS s

E P D o —MALEEAY AT IR S HEAE S
‘. AAAAA 547 NBESE (EPD) R T KB P HE1-14-8
VERIFIED KANDA SQUARE GATE
EFES © JR-Al-25484E https://ecoleaf-label jp

SHARP

vy —THhAEt

(Sharp Corporation)

FTORIVINAT—T Y &-

(DIGITAL FULL COLOR PRINTER)

BP-C542PW (EU)

HEHL ERES JR-AI-25484E
BE1EHEY EAPCREFS  PA-590000-Al-08
PCR#% B R A S #25 [558hi]
HE X SRR AFA 2026538168
[ B33 (IR R84 RIEETEE 20265382A
QEMPBTE QRIE QB G- OFE  HIEAR YATLEREE A
RAES FV-08-26001
RIEEEARE 2031463818
HEOB, TETKR-FET PCRLE1-DETE
Rz :  BP-C542PW FERZE 2023F 98 1H
A BFEEA (EP) £EE 5 22
EREERE  E/70: 42809 (A4FT) — A FE A Y AT T IR HE A
N3- Aty s (A4FT) E=ERAE
BARBESIX A4 NEBIRIEE  BE #T

TEENR © AL
ISO14025( > 1eARE & R UT 5 DIRIL LIARAE
CIAEB WA ER
*YAF LR EZ B EGNORIEOS AL, YAT LRI LT RBEED
ZBERH.
FVWEDhE%E
Iv-THRAEHE AV-FEIRAYVI-VaVEERT
E-mail:ECOLEAF-BS@sharp.co.jp
EERES © JR-Al-25484E



SuMPO EPD SUMPORRIESAIN SOOI s

SEUME)D . —MAEEAY AT IR S HEEEE
4 WEPRPD SATIREES (EPD) e e
VERIFIED KANDA SQUARE GATE

BiES ¢ JR-AI-25484E https://ecoleaf-label.jp

OF17Y1 7V REEFHHER

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 710 | kg-COzeq
[7ge(d 0.65 | kg-SO2eq
BREE 0.24 | kg-Sbeq
" OFHHEE wQRE Ol =ORA-#F =OR#
2F JHE|  HfI At | OR#MEFEE QRE Qi@ |@fEMA-#E O
IEZED kg-COzeq | 7.1E+02 2.5E+02 1.5E+01 2.5E+01 3.7E+02 | 4.9E+01
74k 24 kg-SOzeq | 6.5E-01 2.5E-01 3.4E-02 3.0E-02 3.1E-01 2.6E-02
HRHE kg-Sbeq 2.4E-01 1.9E-01 8.6E-05 1.1E-04 5.7E-02 5.1E-05
IHH B mh-9E (ERHS) Hifi
FFBERREER 3.4E+01 kg EiEi 1.2E+01 kg
BAEFREER 1.5E+02 kg NS 3.1E-01 kg
TIVIZA 3.9E-01 kg
0L E 5.3E-01 kg
T32FvY 1.5E+01 kg
i 3.2E-02 kg
A5 3.4E-01 kg
- AR 3.3E+00 kg
EL& A IR EAR 9.1E-01 kg
Z0fth 3.3E+00 kg

GEEHRICEAT2EMIER
CBEOMERT - RN
-[EFEHM%E 5 £/, ENRIFEMREE 259,200 LT, REEMEEHLTWET,
32 (¥37/8) x271 (ByP3ad) =4 x5 (B/B) x 4 (B/A) x12 (A/F) x5 (F) = 25920014
-EIRIROREBEWREESENTWEEA,
CBREELCAVRYFUACBWVGRELEES TUVY- (EPAR)
CERIRINF-RI-TOTILVer3 0[CRRVEELTWET,

©-1.Z0fthDIRIFRIEIFER

AB RO EEE FEIRRBTHHIRRAIR, FF-DEE(L 1SO14001 ARG TIHICTITHONTVET,

DFERALEZRT-IDEZS
FRE{I(L, IDEA v3.1.0 RU SUMPOREINLTOITLBHT-Iv1.15 EEALTVET,

®fE

@7 -YHEHENAHKE. PCRELVETE - EEMRBELSRBL WL,
OLLRIIDVTE, EE - EEREICHREINLEZHFER/LEEEICLIRDONE A
(BHE%URL : https://ecoleaf-label jp/regulation/)
F#xFES ¢ JR-AI-25484E



